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Solve the system. 5
AXT-DUx+(20=0

I x2+y2=169 - 1) 2 (= X2+ 4x -2
X +y=17\°0G2D0-5)=0 Y%
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Sy = x(axry) X=5/3 x=-2
3X+(a— 2 X LUK
2 4
ERANER CY®
4. X -1 2x-5
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X(\(*ZB V) = 2%
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CXx-2)(x-3)=0
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o : Rational Equations
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How do you find the x-intercept(s)? y-intercept?

X-\ntercept = Let Lé_:o $ solue For X B l'njrefcqﬂ’
(,0) B e o
(0.9
What 1s an asymptote? Verkical asymplote

Limit of +he <nd behavior Nt 2t asymplote
<nd \oehavior asbmp%ok

How do you find the vertical asymptote(s)?
Cochor c\enow\'\r\o&or X="4F
%e\- =0
Soloe for X

How do you find the horizontal asylgﬁt%te ?

QOMP@(Q c\egreeg of Amer ooy GUNO\ c\eno\mmajm\r

M=K <o ol asymplke s alung Yo

b 0= o horizonjra} QS%MP%H s |
K the oo of e \ead\hb) coe(?mm*s

0> ot horizontall
end \oehavior QS{WPM‘C
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Identify the intercepts and asymptotes.

X142 =0 X-2<0 O=%=>
X =-2 4 X=72 3
Xl
1. y=x2_4 2 ®:2———8L
oOxaA 2N042) ‘(xx_—kt ﬁg%
X~ \NWJC&@‘\ " None ﬂ"ﬂ'- (o g
o= U X-1at - (3,0)
>7:L_L( VAT A=Y eaX=-2
0=y HA® Y=0
Yrint (0,-1)
VAL X=2 X=-¢
WA Y= |
e B i1
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D= 3X+L
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Y x*=3

X-1nt (’2/3\0\)
bt (0,775)

Hﬁigto
VA X=T3

@
|
th

s
ik
to



Unit 8 day 4 notes.notebook January 22, 2016

Match the function with its graph.

Z o= 8 g=——— fi gt
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Graph the function and show all intercepts and

asymptotes.
10. f(x )= ( 3> 1
—1> L)
(XA-\\ D=0
Y-kt (o -3 o
X-nt 1 None o=53 |
HA: ﬂ:O | _K—‘/—\“;a- .- .

VA x=-] X=|
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Graph the function and show all intercepts and

asymptotes.

1. g(x)=—2

x°-9

%—\h'\ : (O O\> CX*—B\(%’3>
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Graph the function and show all intercepts and
asymptotes.

12, fx)=— 220 T

x*+8x+12 ,

. (XYt 2
Yot o (=3,0) \ |

\ﬁ”\ﬂ’kl <O)//Z\) \
HA: Y=o

[
|
|
\//A\ . X:A@ X:_Z | I




Unit 8 day 4 notes.notebook January 22, 2016

Graph the function and show all intercepts and
asymptotes.

13. f(x)=
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Graph the function and show all intercepts and
asymptotes.

14, h(x)=——
' C(x=1)(x+5)
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Graph the function and show all intercepts and
asymptotes.

15. f(x)ZSx—IO

xX+6
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